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# server.py

from flask import Flask, request, jsonify
app = Flask(__name__)

Qapp.route('/echo', methods=['POST'])
def echo():
data = request.json

return jsonify(data)

if __name__ == '__main__':

app.run(debug=True)

class BaseHandler:
def handle(self, request:str):

pass

class Server:
def __init__(self, handlerClass):

self.handlerClass = handlerClass

def run(self):
while True:
request = input()

self .handlerClass() .handle(request)
fib_handle.py

from fib import £

from server import BaseHandler, Server

class FibHandler (BaseHandler):

def handle(self, request:str):



n = int(request)
print('f(n)=", £(n))

pass

server = Server (FibHandler)

server.run()
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python -m http.server
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$ python -m http.server
HTTP 8000 (http://[::1:8000/)
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$ python -m http.server

HTTP 8000 (http://[::1:8000/)
:1 - - [07/Mar/2021 15:30:35] "GET / HTTP/1.1" 200 -
::1 - - [07/Mar/2021 15:30:35] 404
1:: - - [07/Mar/2021 15:30:35] "GET /favicon.ico HTTP/1.1" 404 -
:1 - - [07/Mar/2021 15:30:35] 404
1:: - - [07/Mar/2021 15:30:35] "GET /apple-touch-icon-precomposed.png HTTP/1.1" 404 -
::1 - - [07/Mar/2021 15:30:35] 404
1:: - - [07/Mar/2021 15:30:35] "GET /apple-touch-icon.png HTTP/1.1" 404 -
::1 - - [07/Mar/2021 15:30:38] "GET / HTTP/1.1" 200 -
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from http.server import SimpleHTTPRequestHandler, HTTPServer

class Handler (SimpleHTTPRequestHandler):
def do_GET(self):
self.send_response(200)
self.send_header('Content-type', 'text')
self.end_headers()

self.wfile.write(bytes(" ", "utf-8"))
server = HTTPServer(("127.0.0.1", 8000), Handler)
server.serve_forever ()
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from http.server import SimpleHTTPRequestHandler, HTTPServer

from fib import £

from urllib.parse import urlparse,parse_gs
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from http.server import SimpleHTTPRequestHandler, HTTPServer
from fib import £

from urllib.parse import urlparse,parse_gs
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class Handler (SimpleHTTPRequestHandler):
def do_GET(self):
self.send_response(200)
self.send_header('Content-type', 'text')
self.end_headers()
parsed = urlparse(self.path)
gs = parse_gs(parsed.query)
result = ""
if len(gs) > O:
ns = gs[0]
if len(ns) > O:
n = int(ms)
result = str(f(n))

self.wfile.write(bytes(result, "utf-8"))
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class Handler(SimpleHTTPRequestHandler):
def do_GET(self):
self.send_response(200)
self.send_header('Content-type', 'text')
self.end_headers()
parsed = urlparse(self.path)
gs = parse_qgs(parsed.query)
result = ""
if len(gs) > O:
ns = gs[0]
if len(ns) > O:
n = int(ns)
result = str(f(n))

self .wfile.write(bytes(result, "utf-8"))
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server = HTTPServer(("127.0.0.1", 8000), Handler)



server.serve_forever ()
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self.path=/7n=3

parsed=ParseResult(scheme='', netloc='', path='/', params='', query='n=3', fragment='"')
gs={'n': ['3']}

ns=['3"]

n=3
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from http.server import SimpleHTTPRequestHandler, HTTPServer
from fib import £

from urllib.parse import urlparse, parse_gs

class Handler (SimpleHTTPRequestHandler):

Bpzyw
class Handler (SimpleHTTPRequestHandler):
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def parse_n(self, s):
parsed = urlparse(s)
gs = parse_gs(parsed.query)
if len(gs) > O:
ns = gs['n']
if len(ns) > O:
n = int(as[0])
return n

return None



def do_GET(self):
self.send_response(200)
self.send_header('Content-type', 'text')
self.end_headers()
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result = ""
n = self.parse_n(self.path)
if n is not Nomne:

result = str(f(n))

self .wfile.write(bytes(result, "utf-8"))

self.wfile.write(bytes(result, "utf-8"))
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result = ""
n = self.parse_n(self.path)
if n is not None:

result = str(f(n))

self.wfile.write(bytes(result, "utf-8"))

self .wfile.write(bytes(result, "utf-8"))
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server = HTTPServer(("127.0.0.1", 8000), Handler)

server.serve_forever()
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from flask import Flask, jsonify

from functools import lru_cache
app = Flask(__name__)

@lru_cache (maxsize=None)
def fibonacci(n):
if n <= 1:
return n
else:

return fibonacci(n-1) + fibonacci(n-2)

@app.route('/fibonacci/<int:n>', methods=['GET'])
def get_fibonacci(n):
result = fibonacci(n)

return jsonify({n: result})

if _ _name__ == '_main__':

app.run(debug=True)
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127.0.0.1 - - [10/Mar/2021 00:33:01] "GET /?n=1000 HTTP/1.1" 200 -

)'127.0.0.1', 50783)



Traceback ) : (

if v[n] '= -1:

IndexError:

'3! CJQIL‘ Sgéggéuoedi )68 Xé;é'd 6‘9 ‘PCCJI J&E,UJ“Q 5;@9&9009 v 6J! 10000.

v =[]
for x in range(10000):

v.append(-1)
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v =[]
for x in range(10000):

v.append(-1)
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127.0.0.1 - - [10/Mar/2021 00:34:00] "GET /?n=2000 HTTP/1.1" 200 -

)'127.0.0.1"', 50821)
Traceback ) : (

if v[n] '= -1:

RecursionError:
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v =[]
for x in range(1000000) :

v.append(-1)

def fplus(n):
if n > 800:
fplus(n-800)
return f(n)
else:

return f(n)

def f(n):
if v[n] '= -1:

return v([n]

else:
a=20
if n < 2:
a=n
else:
a = f(n-1) + £(n-2)
v[n] = a

return v([n]
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f = open("demofile2.txt", "a")

f.write("Now the file has more content!")

f.close()

Bpzyw ol I

f = open("demofile2.txt", "a") # "demofile2.txzt" (append)
f.write("Now the file has more content!") # "Now the file has more content!"”

f.close() #

Bzl p 390l 7o g 18 lisuey pusle demofile2. txt oo ¢ o9 slzJIU [["a" [ 1op so.s ool porgun 53121
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#
f = open("demofile2.txt", "r")

print(f.read())

bossdl goledl8JlJd open pdag of gods aclpp ot ool pogun 831001 soozall g Bgloy B all o W lap
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file = open('fib_v', 'a')

file.write('hi')

file.close()

g0 Jetoaadl eazgs JedJlo 18 puslo £ib_v.

“fib_v°
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file = open('fib_v', 'a')
file.write('hi\n")

file.close()
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file = open('fib_v', 'r')
print(file.read())

wBzlgp ssdJlolel woedp ¢ Jo [JIUIINN posss 2w s pustes fib_vseys ) [I'r'[] pe gobs goozs
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$ python fib.py
hihihi

hi
seo A3 lhees Jag o lozplonw wluwzd sgllows . guaalyongd

v =[]
for x in range(1000000):

v.append(-1)

def read():
file = open('fib_v', 'r')
s = file.read()
if len(s) > O:
lines = s.split('\n")
if (len(lines) > 0):
for i in range(len(lines)):

v[i] = int(lines[i])

Spzyw 9l g Jl Bgwse J

def read():
file = open('fib_v', 'r') # 'fib_v'
s = file.read() #
if len(s) > 0: #
lines = s.split('\n') #
if (len(lines) > 0): #
for i in range(len(lines)): #

v[i] = int(lines[i]) # v
:S‘BC‘J? Jng‘ uojudé 3979 8?(5'\9 v '(S;é_)&é 'é%’d—‘-’f‘ ué‘)tud e&@d‘ 6QJ| PO |OC)Q|Jé OP .;éJeJl

def save():

file = open('fib_v', 'w')

start = True

for vv in v:

12



if vv == -1:
break
if start == False:
s += '\n'
start = False
s += str(vv)
file.write(s)

file.close()

def fcache(n):
x = fplus(n)
save ()

return x

def fplus(n):
if n > 800:
fplus (n-800)
return f(n)
else:

return f(n)

def f(n):
if v[n] !'= -1:

return v[n]

else:
a=20
if n < 2:
a=n
else:
a=f(-1) + £f(n-2)
vin] = a

return v([n]

read()
fcache(10)

save ()

Detllggooyl gp solod zalaal seo Jeg oo aaliswdl zooel BJp £ib_v e azodl-gJle!
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fib_v:

o o w N

21
34
55
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1000

aoal )l Jela LS [J00 5o Javascript Object Notation. lagcs g) Jlosp s )¢ JSON.
"name":"John", "age":31, "city":"New York"}

sdegogreadl ug sgseadledows 83 cb I

cooze [0 sJe sorlog i sgoslonidl B elel)

1. A8l ol Jusldonl sgoeol!
2. plog!
3. wlggseol ezl

odpgs bl JElse oo ool Il Bgusl il Jd om0 . gbmg o ¢l pda g ol ooz o Bala ! e spls st pdpgs
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"name" :"John"
"age":30,

"cars":[ "Ford", ”BMW", "Fiat" ]
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seedd zlozy sdl Jgozw 889 en v gl 8 us e Bguey Bgueuwe json.
import json

v =[]
for x in range(1000000) :

v.append(-1)

def fplus(n):
if n > 800:
fplus(n-800)
return f(n)
else:

return f(n)

def f(n):
if v[n] '= -1:

return v[n]

else:
a=20
if n < 2:
a=n
else:
a=f(n-1) + £(n-2)
vn] = a

return v([n]

£plus (100)

s = json.dump(v)

file = open('fib_j', 'w')
file.write(s)

file.close()

lpape @iy sdows B35k ]l &z ibt TypeError: dump() missing 1 required positional argument:
'fp'. &;9 vscode, IQQA?é Bé‘c’;) dé}&u 3Jladl odos 'SééJbJ'

-Sjﬁ)df)g.? :!%;)Co weslaJl 39é dump b gb d“‘éJ' 443 ?lé%g)(:
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(function) dump: (obj: Any, fp: IO, *, skipkeys: bool = ..., ensure_ascii: bool = ...,
check_circular: bool = ..., allow_nan: bool = ..., : Type | = ..., indent: int | str |

= ..., separators: Tuple | = ..., default: (_p@: Any) Any | = ..., sort_keys:
bool = ..., *kkwds: Any)

Serialize obj as a JSON formatted streamto fp (a .write() -supporting file-like object).

If skipkeys istrue then dict keys that are not basic types ( str, int, float, bool , None ) will be skipped instead
of raisinga TypeError .

If ensure_ascii is false, then the strings writtento fp can contain non-ASCIl characters if they appear in strings
ret contained in obj . Otherwise, all such characters are escaped in JSON strings.

If check_circular is false, then the circular reference check for container types will be skipped and a circular reference

fplus.(lﬂﬂ will result in an QverflowError (or worse).
s = json.dump(v)

file = open('fib_j',
file.write(sﬂ
file.close()

w')

[000a0 - 000D

fplus(10)

file = open('fib_j', 'w')
json.dump(v, file)
file.close()

Dloszd plasldl oz 1000 posg s (258 338 5603 e @l SN podous lesggt 0o 6110, gb Jueldl o dag e
sld)l file Jalgpd goler 8l )] dump.

dodp g 8gy B plsdon B35 )b |

(o, ¢+, 1, 2, 3, 5, 8, 13, 21, 34, 55, -1, -1, -1]

Leld ol dlge sgsedlgp -1 po lodiz 1 5z1 )

def read(Q:
file = open('fib_j', 'r')
s = file.read()
sv = json.loads(s)
for i in range(len(sv)):
if sv[i] != -1:
v[i] = sv[i]
def save(Q):
file = open('fib_j', 'w')
json.dump(v, file)

file.close()
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def read():
file = open('fib_j', 'r')
s = file.read()
sv = json.loads(s)
for i in range(len(sv)):
if sv[i] != -1:
v[i] = sv[i]
def save(Q):
file = open('fib_j', 'w')
json.dump(v, file)
file.close()

(05155

for vv in v:
if vv = —-1:

print (vv)

lpspg wazg ddolyydac C)i 3R] ()i sglab el

o o W N

13
21
34
55

luoes B8Two op 030 Jlsalilep

def read():

file = open('fib_j', 'r')



s = file.read()
sv = json.loads(s)
for i in range(len(sv)):

v[i] = sv[i]

NSPNS] SPC)C) Jng‘ :6Jl

def read():
file = open('fib_j', 'r'")
s = file.read()
sv = json.loads(s)
for i in range(len(sv)):

v[i] = sv[i]

BLzlJe sl sdug Ipd 80 0ol wewda st Jo szaow (JIII0000 s peog oepze

def save():
sv = [
for i in range(len(v)):
if v[i] != -1:
sv.append (v[il)
else:
break
file = open('fib_j', 'w')
json.dump(sv, file)

file.close()

fplus(100)

save ()

po ool gl e wesedl Jeddlos po bz agsll dzgzoedl Jdutws - owp

o, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, 377, 610, 987, 1597, 2584, 4181, 6765, 10946, 17711

BJ&‘é alolégdi
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‘bJéJ&C)g azodls |O§J plaz ol wed Il J&ss Excel.
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import sqlite3

con = sqlite3.connect('example.db')

cur = con.cursor()

el gyl Jooz

[00-0000000RRRO000000 DROOO OUbooD Roou boD. doboo OOG. hRROAE OoPo. oo LoD
(0000 Coboooad
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[00-0000000RROO0OO0 OOu OBDOu DODOO DU2006(Jot os(1.QOOOC. DOOOOM.100,35.14[J(

Bz [Jelsgll] wbsst el

[00-00000ooo

con.close()

for row in cur.execute('SELECT * FROM stocks ORDER BY price'):

print (row)

35210p[] 55815935 01 o1l woests 8¢ Jo [JIIMM pesgs sl bw wos ol op Jssz HIUNNNON sesp v oz
stosdl pd peg Bz sed )l ool gemz s e e splsl Bezpiw vz of sve 14 [ g0

cursor goe ouddadl 09 eoyig surdedl g3l oo gle Sualadl 1o dogs zupes Bebed Jlpewl ]l Baglgw
WlglgoJlelngle JalszJl JIgsls wilylgodl Jlunls w@hbggt ol 310els -Jlpealdl Jloall et il zubos bedsd
pldg el olglen !

import sqlite3
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v =[]
for x in range(1000000) :

v.append(-1)

def create_table(cur: sqlite3.Connection):

cur.execute('CREATE TABLE vs(v text)')

G Saz a9l °‘Jti el

def create_table(cur: sqlite3.Connection):

cur.execute ('CREATE TABLE vs(v text)')

b 030 BJIsJl pss el ol Jooz 3657 pusls VS g0z s st 3908 5219 o oo ool [Jtext]].

def read():

pass

def save():

con = sqlite3.connect('fib.db"')

cur = con.cursor ()
create_table(cur)
for vv in v:
if vv I= -1:
cur.execute('INSERT INTO vs VALUES(' + str(vv) + ')')
else:
break

con.commit ()

con.close()

save ()

SSRNVE-N SORCEN NI RN

save ()

BLzlp 294l pJ pos swpzaes 0uld 90z B splsl Bszpaw 38 wede Buelz B8 )0 Bzpaw duste Bpralls 2
L sJl Jéé&u 6“9 Béébg L4t

aaesdolad ) lewyz .ol
@J JedJle sqlited g Sloz soogwpd]l ol dl oo
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$ sqlite3d

SQLite version 3.32.3 2020-06-18 14:16:19

n .helpll

".open FILENAME"

sqlite> .help

.auth ON|OFF

.backup 7DB? FILE
.bail on|off

.binary on|off

.cd DIRECTORY

.changes on|off

.check GLOB

.clone NEWDB
.databases

.dbconfig 7op? 7val?
.dbinfo 7DB?

.dump ?TABLE?

.echo on|off

.eqp onl|off|fulll...
.excel

.exit 7CODE?

.expert

.explain 7on|off|auto?
.filectrl CMD ...
.fullschema 7--indent?
.headers on|off

.help 7-all? 7PATTERN?
.import FILE TABLE
.imposter INDEX TABLE
.indexes 7TABLE?
.limit ?LIMIT? ?VAL?
.lint OPTIONS

.log FILE|off

.mode MODE ?7TABLE?

.nullvalue STRING

DB ) "main"
OFF
OFF
DIRECTORY
SQL
.testcase

NEWDB

sqlite3_db_config()

SQL

EXPLAIN QUERY PLAN

CODE

EXPLAIN. : auto

sqlite3_file_control()

sqlite_stat

PATTERN

FILE TABLE

TABLE INDEX

SQLITE_LIMIT

FILE

stderr/stdout

STRING NULL
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.once ?70PTIONS? ?FILE?
.open 70PTIONS? ?FILE?
.output ?FILE?
.parameter CMD ...
.print STRING...
.progress N

.prompt MAIN CONTINUE
.quit

.read FILE

.recover

.restore 7DB? FILE
.save FILE

.scanstats on|off
.schema 7PATTERN?
.selftest 70OPTIONS?

.separator COL 7ROW?

.session 7?NAME? CMD ...

.sha3sum ...
.shell CMD ARGS...
.show

.stats 7on|off?
.system CMD ARGS...
.tables ?TABLE?
.testcase NAME
.testctrl CMD ...
.timeout MS

.timer on|off
.trace 70PTIONS?
.vEisinfo 7AUX?
.vfslist

.visname 7AUX?

.width NUM1 NUM2 ...

SQL FILE

FILE
FILE stdout FILE
SQL
STRING
N
FILE
DB ) "main") FILE
FILE
sqlite3_stmt_scanstatus()
CREATE PATTERN
SELFTEST
SHA3
CMD ARGS... shell
CMD ARGS... shell
LIKE TABLE

'testcase-out.txt'

sqlite3_test_control()

MS
SQL
SQL
VFS
VFSes
VFS
"column"

_SjQi]Pé B§§) J§J&J‘ 3P ')P'-‘?U‘ 9P ‘oo%;g .quit %;3J| Ut R el
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$ sqlite3 fib.db

sqlite> show tables
L
"show":
sqlite> tables;
"tables":

sqlite> .schema

CREATE TABLE vs(v text);

& BeboJl esgoe!l ol sal Il swung MySQL. & oz o dp g plag e sl show tables sbygp] Jobz I 8ydeepll od)
1521 @ aodl ol sl 1 o SQLite .8 oz MySQAL oo ¢ oy 57 op 381908 wilplewJl sos Iub sl s 0p S e 8
Jogogeedl

sqlite> select * from vs;
0
1
1

2
3
5
8
13
21

34
55

JedJlelupgsolodo olglgadl Jdpae zgzoe bzl ool lopsz ol text ol lnpldsl ig0d 339 1 odpog os
JIJ&iJl szezoed! b dagls wlgleol yp loboz

import sqlite3

v =[]
for x in range(1000000) :

v.append(-1)

def fplus(n):

if n > 800:
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fplus(n-800)
return f(n)
else:

return f(n)

def f(n):
if v[n] '= -1:

return v([n]

else:
a=20
if n < 2:
a=n
else:
a=~f@m-1) + £f(n-2)
v[n] = a

return v([n]

def create_table(cur: sqlite3.Connection):

cur.execute ('CREATE TABLE vs(v text)')

def read():
con = sqlite3.connect('fib.db"')
cur = con.cursor ()
create_table(cur)
i=20
for row in cur.execute('SELECT * from vs'):
v[i] = int(row)

con.close()

NP BPE)C) _sg_flJ‘ :&Jl

def read():
con = sqlite3.connect('fib.db")
cur = con.cursor ()
create_table(cur)
i=20

for row in cur.execute('SELECT * from vs'):
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v[i] = int(row)

con.close()

BLzlJp s9ddl sdorldl 90z st ot slbglll Blpozedl Jop pog Bt st pll v Jod eplgo sl pags
8alg3 Bp s 1 JEls 880zl 030 el pJ pesg lozgzoow o Bpzye ]l

def save():

con = sqlite3.connect('fib.db"')
cur = con.cursor ()
create_table(cur)
for vv in v:
if vv !I= -1:
cur.execute('INSERT INTO vs VALUES(' + str(vv) + ')')
else:
break

con.commit ()

con.close()

read()
for i in range(10):

print(v[il)

Spey BBl bl s lsTead. gps 3 sg o Jeb spel sk ibg

$ python fib_db.py

File "fib_db.py", line 27, in create_table
cur.execute ('CREATE TABLE vs(v text)')

sqlite3.0OperationalError: vs

I 1o0dp s elusal Jeszdl 6 st Joszdlsszep -JedUle podous Jeseow 38 suedl 1Je)é

def create_table(cur: sqlite3.Connection):

cur.execute('CREATE TABLE IF NOT EXISTS vs(v text)')

BazyeJl

def create_table(cur: sqlite3.Connection):

cur.execute ('CREATE TABLE IF NOT EXISTS vs(v text)')
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BBz1Jp 3840l pasedl 1) 2lozs el oo wgz ool wesde st Jo szase [JIIHNM spzsedis s o sade 3941
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¢pod]s Caz ibc

v[i] = int(row)

TypeError: int () 'tuple'’

tuple 9o 0 op tlsol Slalewd! ¢ JIIIIN ot of sJs i row gz0és tuple. lygs log by,

for row in cur.execute('SELECT * from vs'):
print (row)

v[i] = int(row)
szgaodlige
(o',

g8 e 3lo]l tuple s gl 3z sewd be b oa]l B33l susgissdl o0 ol suelug tuple pda ol yado B Joga

0t bt ot e wede b opl gl oz ol 0sde ggaz losuelog op wedy ao!

def read():
con = sqlite3.connect('fib.db"')
cur = con.cursor ()
create_table(cur)
i=20
for row in cur.execute('SELECT * from vs'):
v[i] = int(row([0])

con.close()

BBzl Ja ssd 1 ol el wseda sg Jo (0000 podss 8ehhdw wlylewJl o 8agld wlylew 0aooon. 1 PO IS SED
sod 1 elyol Bazyo I
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for row in cur.execute('SELECT * from vs'):
v[i] = int(rowl[0])

i+=1

'M-C§Cu9

co o w N

21
34

£p9 I3 5571 00l st 59w al gl By gwd posg labisy oo Baglg wlylgw I 150w 1 )4l

4660046610375530309
7540113804746346429
1.22001604151219e+19
1.97402742198682e+19
3.19404346349901e+19

N BJ""CL ‘Jé&dﬁud‘ Qgilc')u.n Baéuodi éJ'UJ‘A

$ python fib_db.py

Traceback (most recent call last):
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File "fib_db.py", line 35, in read
v[i] = int(rowl[0])

ValueError: invalid literal for int() with base 10: '1.22001604151219e+19'

wpebazye ool olel el s JlIpd e

$ python fib_db.py
Traceback (most recent call last):
File "fib_db.py", line 35, in read
v[i] = int(row[0])
ValueError: int ) :10 '1.22001604151219e+19"

et ol Jig
cur.execute ("INSERT INTO vs VALUES('" +str(vv) + "')")
6"9 a9l ‘°U&i pPUS zlsal 8p 08 )éf«_ﬁ)ﬁjl vV 6"9 Jesz SPUsS VS plaz e uly )pi |:||:||:| INSERT INTO. pPUG Jégtﬁ)

°?L§u9 vv oJl 8 e o SéuoO P'-’éou“'? sladlstr() Joi lozlyal 6;9 P‘J&“’\)""JI

bzld ol loe lopd sggtow @lalle paloogliseard ]l Joz blog INSERT gl wlalle paloosl dzesie lodusls
Il wlalde selowal Jaz 8Juedoe plasldl 8ualzdl Tow 131152 58 lol oo alaw Bagsb I up (Jwd ©old) 83813
ololgndl3g olples g 8Josdunll sJg lool @ldl gds Il plgosalo wlale waloosl )l pog Jpleo ]l log
sJe ool 8Juslus Bgues
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$ sqlite3 fib.db
SQLite version 3.32.3 2020-06-18 14:16:19
n .helpll

sqlite> delete * from vs;

dodpg oo oblog gl sgo 408 38 lopai oo 8epl s e

ogsped!
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